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CHAPTER OUTLINE: 
I.
Managerial Accounting Contrasted to Financial Accounting 

A.
The Management Process

1.
Variety of firm's objectives

2.
Planning and Control

B.
Differences between Financial and Managerial Accounting

1.
Future orientation

2.
Breadth of focus

3.
Application of Generally Accepted Accounting Principles

II.
Cost Classifications

A.
Relationship of Cost to Volume of Activity

1.
Cost behavior patterns

a.
Variable cost

b.
Fixed cost

c.
Mixed cost

2.
Variable costs as activity changes

a.
Change (increase/decrease) in total as activity changes

b.
Constant per unit

3.
Fixed costs as activity changes

a.
Constant in total as activity changes

b.
Change (increase/decrease) inversely as activity change

c.
Remember, never unitize fixed costs!

III.
Applications of Cost-Volume-Profit Analysis

A.
Cost Behavior Pattern: The Key

1.
Assumptions

a.
Relevant range

b.
Linearity

B. Estimating Cost Behavior Patterns

1.
Scattergram

2.
Variable rate

3.
Cost formula

CHAPTER OUTLINE (continued)
IV.
Contribution Margin

A.
Contribution Margin Format Income Statement

1.
Functional cost categories reclassified to cost behavior categories

2.
Analyzing impact of volume changes on net income

B.
Expanded Contribution Margin Model

1.
Use of model to answer "what if" questions

C.
Contribution Margin Ratio

1.
Determine the change in contribution margin and net income for a change in revenues

2.
Determine the revenue increase needed to cover an increase in fixed expenses

3.
Used when per unit revenue and variable expense data are not available

D.
Sales Mix Considerations

1.
Average contribution margin ratio

E. Break‑Even Point Analysis

1.
Sales volume in units and/or dollars

2.
Graphical presentation

3.
Margin of Safety

F.
Operating Leverage

1.
Relationship between fixed and variable costs in an organization’s cost structure

2.
Indifference point

TRUE/FALSE:
____
1.
Managerial accounting has an internal orientation and often uses financial accounting information in a future oriented way.

____
2.
For performance feedback to be most effective, managerial accounting information should be relevant to the decisions at hand and should be provided as quickly as possible, even if the results are approximate rather than exact.

____
3.
Fixed costs per unit of output are constant within the relevant range of activity.

____
4.
Variable costs are assumed to be linear, or constant on a per unit basis.

____
5.
When a cost formula is used to describe a mixed (semi-variable) cost behavior pattern, total costs are expected to increase and per unit costs are expected to decrease as the level of activity increases.

____
6.
Cost-volume-profit analysis involves the interpretation and forecasting of changes in operating income as a result of changes in revenues or the volume of activity.

____
7.
Fixed expenses are constant in total when operating activity is within the relevant range, but when the firm operates at a level above the upper boundary of the relevant range, fixed expenses are likely to increase.

____
8.
The linearity assumption results in a less exact but more meaningful measurement (for prediction purposes) of variable costs such as raw materials and direct labor.

____
9.
Total variable expenses equal total fixed expenses at the break─even point.

____
10.
The break-even point in units can be computed as: total fixed costs divided by contribution margin per unit.

____
11.
The scattergram allows cost-volume relationships to be visually scanned for outlier observations that should be ignored in the calculation of the cost formula of a mixed cost.

____
12.
Contribution margin can be computed as total revenue less total fixed expenses.

____
13.
For a given increase in sales, total contribution margin will also increase by the change in the level of sales times the contribution margin ratio.

____
14.
Under the contribution margin income statement, costs related to selling, general and administrative functions are always treated as fixed expenses.

____
15.
The operating leverage concept explains the magnification of the percentage change in operating income relative to a percentage change in revenues.

TRUE/FALSE (continued):
____
16.
The higher a firm's variable expenses relative to its fixed expenses, the greater its operating leverage.

____
17.
If fixed costs were increased by $9,000 and the contribution margin ratio remained at 30 percent, then sales must increase by $27,000 in order to cover the additional fixed expenses.

____
18.
A shift in the sales mix toward higher contribution margin ratio products will decrease the break-even level of sales.

____
19.
At the break-even point, total contribution margin is equal to total fixed expenses.

EXERCISES:
	1.
	Luppino, Inc., prepared a partial income statement for the year ended December 31, 2013, under the traditional format, as shown below:

	
	
	

	
	Sales ($50 per unit)  …………………………………………………………
	$ 350,000

	
	Less: Cost of Goods Sold * …………………………………………………
	 (274,000)

	
	Gross Profit …………………………………………………………………
	$   76,000

	
	Less: Selling, General, and Administrative Expenses * ……………………
	 (22,000)

	
	Operating Income ……………………………………………………………
	$    54,000

	
	
	

	
	* Variable manufacturing costs (raw materials, direct labor, and variable manufacturing overhead) were $17 per unit.  Variable selling, general, and administrative expenses were 

$2 per unit.

	
	

	
	a.  Prepare, in good form, a contribution margin income statement for the year.

	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	

	
	

	
	b. Using your answer to part a, compute the operating income for Luppino, Inc., assuming               that sales were increased by 800 units.

	
	

	
	__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________



	
	


EXERCISES (continued):
	
	c. Using your answer to parts a and b, recast Luppino, Inc.'s income statement under the                  traditional format assuming that sales were increased by 800 units.

	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	

	
	

	2.
	Dewey, Cheatem & Howe manufactures assorted Garfield and Elvis items.  The break-even            point in sales volume is $1,400,000 per year, and the company’s average contribution margin ratio is 35%.  In 2009, the company reported an operating income of $280,000.  Compute the company's total sales dollars for 2010.

	
	

	
	__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________


SOLUTIONS:
	True/False

	
	
	
	
	

	1.
	T
	
	11.
	T

	2.
	T
	
	12.
	F

	3.
	F
	
	13.
	T

	4.
	T
	
	14.
	F

	5.
	T
	
	15.
	T

	6.
	T
	
	16.
	F

	7.
	T
	
	17.
	F

	8.
	T
	
	18.
	T

	9.
	F
	
	19.
	T

	10.
	T
	
	
	


Exercises

	1. a.
	Sales ($50 per unit) …………………………………………………………
	$ 350,000

	
	Variable Manufacturing Overhead …………………………………………
	(119,000)

	
	Variable Selling, General, and Administrative Expenses……………………
	  (14,000)

	
	Contribution Margin …………………………………………………………
	$ 217,000

	
	Fixed Manufacturing Overhead………………………………………………
	(155,000)

	
	Fixed Selling, General, and Administrative Expenses ………………………
	    (8,000)

	
	Operating Income ……………………………………………………………
	$  54,000

	
	
	

	
	Calculations:
	

	
	1. Units sold = $350,000 / $50 = 7,000

2. Variable manufacturing overhead = $17 * 7,000 = $119,000

3. Fixed manufacturing overhead = $274,000 ─ $119,000 = $155,000

4. Variable selling = $2 * 7,000 = $14,000

5. Fixed selling = $22,000 ─ $14,000 = $8,000
	

	
	
	

	    b.
	Sales ($50 per unit)……………………………………………………………
	$ 390,000

	
	Variable Manufacturing Overhead……………………………………………
	(132,600)

	
	Variable Selling, General, and Administrative Expenses ……………………
	  (15,600)

	
	Contribution Margin …………………………………………………………
	$241,800

	
	Fixed Manufacturing Overhead………………………………………………
	(155,000)

	
	Fixed Selling, General, and Administrative Expenses ………………………
	    (8,000)

	
	Operating Income ……………………………………………………………
	$   78,800

	
	
	

	
	Calculations:
	

	
	1. Unit sales = 7,000 + 800 = 7,800

2. Variable manufacturing overhead = $17 * 7,800 = $132,600

3. Variable selling = $2 * 7,800 = $15,600
	


	1.
	(continued)
	

	    c.
	Sales ($50 per unit)……………………………………………………………
	$ 390,000

	
	Cost of Goods Sold……………………………………………………………
	(287,600)

	
	Gross Profit……………………………………………………………………
	$ 102,400

	
	Selling, General, and Administrative Expenses………………………………
	   (23,600)

	
	Operating Income ……………………………………………………………
	$    78,800

	
	
	

	
	Calculations:         
	

	
	1. Unit sales = 7,000 + 800 = 7,800

2. Cost of goods sold = $132,600 + $155,000 = $287,600

3. Selling, general, and administrative expenses = $15,600 + $8,000 = $23,600


	2.
	Since the company earned a profit (operating income of $280,000), sales must have been greater than the break-even sales level of $1,400,000.  At the break-even point, total fixed expenses equals total contribution margin, which is $490,000 ($1,400,000 break-even sales * 35% contribution margin ratio).  After covering the $490,000 of fixed expenses, the company earned an additional $280,000 in contribution margin (reflected as operating income).  Note the one-to-one relationship between contribution margin and operating income at levels of activity beyond the break-even point.  

	
	
	

	
	Revenue………………………………………………………………………
	$ xxx,xxx

	
	Variable Expenses……………………………………………………………
	(xxx,xxx)

	
	Contribution Margin ($490,000 + $280,000)  ………………………………
	$ 770,000

	
	Fixed Expenses ………………………………………………………………
	(490,000)

	
	Operating Income ($0 at the break-even point + $280,000)  ………………
	$ 280,000

	
	
	

	
	In order to have generated $770,000 in contribution margin at a rate of 35 cents per dollar in sales, total sales must have been:
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